This report contains the transfers results.

Contest Name	Ward 1 - Lomond
Valid Votes	4,326
Positions to be Filled	3
Quota	1,082

Stage 1

Candidate Name	Affiliation	No. of Ballot Papers
Drew MACEOGHAINN	West Dunbartonshire Community Party	509
Jonathan MCCOLL	Scottish National Party (SNP)	1,494
Sally PAGE	Scottish Conservative and Unionist	666
Martin ROONEY	Scottish Labour Party	938
Hazel SORRELL	Scottish Labour Party	719
	Total	4,326

Candidate Jonathan MCCOLL Elected with 1,494 votes, being in excess of the quota of 1,082

This report contains the transfers results.

Stage 2 - Surplus of Jonathan MCCOLL

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Drew MACEOGHAINN	405	0.27576	111.68280
Transfer to Sally PAGE	54	0.27576	14.89104
Transfer to Martin ROONEY	288	0.27576	79.41888
Transfer to Hazel SORRELL	229	0.27576	63.14904
No further preference	518	0.27576	142.84368
Not transferred due to rounding			0.01456
	Total		412.00000

This report contains the transfers results.

Stage 3 - Exclusion of Drew MACEOGHAINN

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Sally PAGE	46	1.00000	46.00000
Transfer to Martin ROONEY	117	1.00000	117.00000
Transfer to Hazel SORRELL	159	1.00000	159.00000
Transfer to Sally PAGE	15	0.27576	4.13640
Transfer to Martin ROONEY	104	0.27576	28.67904
Transfer to Hazel SORRELL	102	0.27576	28.12752
No further preference	187	1.00000	187.00000
No further preference	184	0.27576	50.73984
Not transferred due to rounding			0.00000
	Total		620.68280

This report contains the transfers results.

Stage 4 - Surplus of Martin ROONEY

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Sally PAGE	56	0.06972	3.90432
Transfer to Hazel SORRELL	865	0.06972	60.30780
Transfer to Sally PAGE	15	0.01922	0.28830
Transfer to Hazel SORRELL	284	0.01922	5.45848
No further preference	134	0.06972	9.34248
No further preference	93	0.01922	1.78746
Not transferred due to rounding			0.00908
	Total		81.09792

This report contains the transfers results.

Stage 5 - Exclusion of Sally PAGE

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Hazel SORRELL	387	1.00000	387.00000
Transfer to Hazel SORRELL	32	0.27576	8.82432
Transfer to Hazel SORRELL	34	0.06972	2.37048
Transfer to Hazel SORRELL	12	0.01922	0.23064
No further preference	325	1.00000	325.00000
No further preference	37	0.27576	10.20312
No further preference	22	0.06972	1.53384
No further preference	3	0.01922	0.05766
Not transferred due to rounding			0.00000
	Total		735.22006